A=y a v FRVRN *2 VRO TL IV VRITLIEEENEF A,

Reg.No |77Rb+Z7 +ES tyravyg |EvrarEs tviavH =375 =5
32 A-13 Ty arl SS1-1 12H8H 10:40-11:55 Bl
47 A-30 Ty arl SS1-2 12H8H 10:40-11:55 =S
32 A-52 ttyiarl SS1-3 12H8H 10:40-11:55 BlRG
35 A-14 Tty arl SS1-4 12H8H 10:40-11:55 Bl
7 A-41 tyirar?2 SS2-1 12H8H 10:40-11:55 BE2RG
42 A-25 tyirar? SS2-2 12H8H 10:40-11:55 BE2RG
30 A-27 tyiar?2 SS2-3 12H8H 10:40-11:55 BE2R5
60 A-45 tyirar?2 SS2-4 12H8H 10:40-11:55 BE2RiG
67 A-49 tyirar? SS2-5 12H8H 10:40-11:55 B2




